SERERER

6. JFEEEHRET

#&38 ARl HT-RAIFEER

CHEDN TR 224F

X Sl 1A 2A 38 |48 | 5A | 6eA | 7H | 85 | 9A | 10A | 11H | 128

& #| 234 19| 16| 22| 18| 18| 12| 23| 21 17 22| 17| 29

B %1 104 8 6| 12 8| 10 4 9| 10 6 9 8| 14

A I| 130 11 10| 10| 10 8 g| 14| 11 11 13 9| 15

rf x| 26 1 4 3 2 1 - 4 3 3 2 - 3

El k|10 1 1 1 1 - - 3 1 - 1 - 1

A Tl 16 - 3 2 1 1 - 1 2 3 1 - 2

o x| 18 4 1 3 1 1 1 1 1 1 3 1 -

&l N 5 2 - 1 - - - - - - 1 1 -

A T 13 2 1 2 1 1 1 1 1 1 2 - -

53] x| 31 3 2 4 2 2 1 1 2 3 3 4 4

| sk 19 1 1 3 2 2 1 1 2 1 2 2 1

A T 12 2 1 1 - - - - - 2 1 2 3

7] x| 38 5 - 4 2 5 1 5 1 5 4 1 5

&l skl 17 3 - 3 1 2 - 1 - 4 1 1 1

A T| 21 2 - 1 1 3 1 4 1 1 3 - 4

7 M BOX| 47 5 4 3 5 2 2 4 6 - 4 4 8

&l k| 23 1 3 3 2 - - - 4 - 2 2 6

A T 24 4 1 - 3 2 2 4 2 - 2 2 2

2 = dv x| 26 - 3 2 - 3 1 4 3 4 1 2 3

&l sk 11 - 1 - - 2 - 3 1 1 - 2 1

A T| 15 - 2 2 - 1 1 1 2 3 1 - 2

gz 2 x| 17 - 1 - 2 2 2 1 2 - 2 - 5

&l skl 13 - - - 1 2 2 1 2 - 1 - 4

A T 4 - 1 - 1 - - - - 1 - 1

e 1A X[ 31 1 1 3 4 2 4 3 3 1 3 5 1

El N 6 - - 1 1 2 1 - - - 1 - -

A T| 25 1 1 2 3 - 3 3 3 1 2 5 1

=39 FERAICAH-FEHFETEH - TG (HE+HEEREE) T5t
(AT 2 A)
4 © %

A b/ T T Ty

migwee | wmmes | O ER | mmee | s | 00

% 134E 54 45 9 4.6 3.8 0.8

14 52 38 14 4.5 3.3 1.2

15 59 47 12 5.1 4.1 1.0

16 45 38 7 4.0 3.4 0.6

17 34 27 7 3.1 2.5 0.6

18 40 33 7 3.6 2.9 0.6

19 39 36 3 3.4 3.1 0.3

20 44 37 7 3.9 3.3 0.6

21 46 34 12 4.0 3.0 1.0

22 46 34 12 4.0 3.0 1.0
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SRR

&40 ARICHT-RAIEERHETH

(HAE : N) R%224E
X Sl sl 1A |28 | A |45 | 56H | 68 | 7TH | 854 | 9H [10A | 11H | 124
@ | 46 4 3 4 3 7 1 2 3 6 5 1

% B w E 34 1 1 3 3 6 1 2 3 2 4 1

BfAsERET| 12 3 2 1 - 1 - - - 4 1 - -
rh X 5 1 - - - - - 1 1 - 1 - 1
% oW o B 4 - - - - - - 1 1 - 1 - 1

FLET A R AR 1 1 - - - - - - - - - - _

H X 1 - - - - - - - - - 1 - -
ww o= - - - - -1 -1 -1 -1 - -1 -l -| -
awgawwe| 1] - - - | | | | | -| 1| -| -

[E2] X 9 2 - 1 2 1 - - 1 1 1 - -
% M O pE 8 1 - 1 2 1 - - 1 1 1 - -

R A AR T 1 1 - - - - - - - - - - ,

it} X 5 - 1 - - 2 - - - 1 - - 1
wowm o ml sl - - -| -| =2f -| -| -| -| -| -| 1
REEAENET| 2 - 1 - - - - - - 1 - - _

7 e oK 10 - 1 3 - - - - - 9 2 1 1
wowm o ol 7| - o <2 - -| -| -| -| -| 2| 1| 1
SR 3 - - 1 - - - - - 9 - - _

7 e e K| T - 1 - - 2 - 1 1 1 - - 1
% owm ool s - -| -| -| tf - 1| tf 1| -| -| 1
RMEAREE| 2 - 1 - - 1 - - - - - - -

@7 = X - - - - 1 - - - 1 - - 3
%W 3 E 4 - - - - 1 — - - — — _ 3
REEAENEC| 1 - - - - - - - - 1 - - _

e K[ 4 1 - - 1 1 1 - - - - - _
% oW 3 E| 3 - - - 1 1 1 - - - - - _

AR T 1 1 - - - - - - - - - - _
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SRR

x4 HERRBHACHT=-RANFEER

(HAE : N) R%224E
@ * EEIE N T ¥ jE
- N w12 | 22 | 28 37 Bl 12| 22| 28 37 Wl 12 | 22 | 28 37
” cloe) e 8 Lo | g cfoo | B
e 21 27 36 IS e 21 27 36 in F 21 27 36 +
% ) 234 200 15| 12 71 104 70| 15| 12 71 1301 130f —| —| -—
i X 26| 22| — 1 3l 10 6| — 1 31 16| 18] —| —| -—
H X 18] 18 —| —| — 5 5 —| —| —| 13| 13} —| —| -
[E7] X 31 23 4 a0 =1 19| 11 4 al  —1 12| 12 —| —-| -
[ii) X 38] 35| — 31— 17| 14 — 3l —| 21 21 —| —| -
7 M X 471 40 6] — 1l 231 16 6l — 1 24 24 —-| —| -
7z dh K 26| 21 2 2 1 11 6 2 2 1 151 150 —| —| -
7 E=3 X 17| 13 2 1 1 13 9 2 1 1 4 4 -] - -
= 1A X 31 28 1 1 1 6 3 1 1 1 251 250 —| —| -—

x42 HERBHAICH-BOFEH OGmER RIEER

Gl - 0 k22t
7 % H #k & pE AN T ® E
Mol 12 | 22 [ 28 [ 37 | M| 12 [ 22 [ 28 |37 | M| 12|22 |28 | 37
F fim el i i
0 0 0 o 0 0 N { l l 2
H 21 27 36 B ¥ 21 27 36 E ¥ 21 27 36 T+
2 # 234 200 15| 12 71 104 70| 15| 12 71 1301 130 —| —| -—
15 K b 1 i -1 -1 -1 -1 -1 -1 -1 - 1 |l - -1 -
15 ~ 19 % 24 23] — | - 5 a4 — i =1 191 19 —| —| -
20 ~ 24 % 331 321 — | - 8 71 — i —| 25 251 —| —| —
25 ~ 29 % 59 47 8 3 1| 271 15 8 3 i 321 321 —| —| -—
30 ~ 34 % 58] 47 3 6 2| 35| 24 3 6 2l 231 231 —| —| -—
35 ~ 39 & 471 39 4 1 3] 26| 18 4 1 31 211 o1 —| —| -—
0 ~ 44 5% 12l 1 -1 - 1 3 2 —| — 1 9 9l —| —| -
* D 1t -1 -1 -1 -1 -1 -1 -1 -1 =1 -1 -1 -1 -1 -1 -
=43 BOEH: OREHR) AlIZAT=XRISEES
2PN Pk 224
fes Hin K H H 3] [iif] ZikEr | ZEdk T (s
7 ¥ 234 26 18 31 38 47 26 17 31
15 g% AR il 1 - - - - 1 - - B
15 ~ 19 % 24 2 3 2 5 3 4 3 2
20 ~ 24 W% 33 5 3 5 5 7 4 1 3
25 ~ 29 % 59 9 1 7 11 14 4 4 9
30 ~ 34 % 58 6 6 10 7 11 7 5 6
35 ~ 39 % 47 4 4 5 9 10 3 3 9
40 ~ 44 12 — 1 2 1 1 4 1 2
% D fth — — — — — — — — —
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7. WEIRERET

x44 AR H 1= R BB R 42K

HEARE R

(AT < 1) SRR 224
X 5 Wl 1A | 2H | 3A 4H 5H e | 77 [ 83 | 98 [10A | 11A | 124
TN # 6,953| 438 745 676 559| 565 513| 588 444| 483 702| 636] 604
=8| X 940 59 106 93 63 72 74 80 75 67 94 81 76
W X 625 38 58 69 44 57 44 57 51 48 48 58 53
@ X 878 61 92 64 72 84 79 78 57 55 88 67 81
it} X 1, 281 7 131 133 100 103 102 111 83 89 115 127 110
7 e rsﬁ X 1,382 75 162 149 120 124 99 105 67 94 155 121 111
f # 4t X 686 44 70 66 57 62 41 66 41 51 75 56 57
S 459 33| 54| 43 34| 25| 32| 34l 28| 28]  se| 48| 44
e 18 X 702 51 72 59 69 38 42 57 42 51 71 78 72
45 KWMBEDOFE OREFERR) BlICAHT-1BIRHE2

(BAQE - 1) SRR 224

% # | 15|15 | 20 | 2 30 | 35 [ 40 [ 45 | 50 | 55 | 60
. R PR 2 R PR | o

P LA B

% # i 19 24 29 34 39 44 49 54 59 I
@ #% |5.308 —| 88 883 2,124| 1,381| 601| 157| 44 19 6 5| —
15 m KWW -1 -1 | - -1 -1 -1 -1 -1 -t -1 - -
5 ~ 19 % 154 —| 65 60| 22 6 1 - -1 -1 —-| -l -
20 ~ 24 w | 1,118)  —| 22| 639 380 100 26 7 |l - - -l -
25~ 29 % |2365 — 1| 160| 1,469 566 136 23 6 ] 1
30 ~ 34 g 1,149 —| —| 20| 231 603 240 42 7 4 of - -
35 ~ 39 % 30| | - 3 22| 92| 175 63| 10 2 2 I
40 ~ 44 % 79 —-| - 1 —| 14| 21| 20| 14 7 1 I
45 ~ 49 % 15 —| | - -1 - 2 2 6 3 1 1| -
50 ~ 54 % -1 -1 - - - - - - - - - - -
55 ~ 59 % -1 -1 - - -1 - - - - -t - - -
60 LMLk 1l -1 -1 - -1 - - - - - - I
T~ £ — - - - - - - - - - - - -

I Kim & bAIEOSHE
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AR R

&A6  FRAIZH =T HIBEF

(BT : %)
NS NS e
x*x E:3 PN =
i Fn 50 4F 26. 7 24. 4 27.0 24. 7
60 28.0 25.3 28.0 25. 2 28. 2 25.5
Rk 5 AR 28. 1 25.9 28.0 25. 6 28. 4 26. 1
6 28. 1 26. 0 28.0 25.7 28.5 26. 2
7 28. 1 26. 1 28.0 25.9 28.5 26. 3
8 28. 1 26. 2 27.9 26. 0 28.5 26. 4
9 28. 1 26. 4 28.0 26. 1 28.5 26. 6
10 28. 2 26. 6 28. 1 26. 3 28. 6 26.7
11 28. 4 26. 8 28. 2 26.5 28.7 26. 8
12 28. 6 27.0 28. 3 26. 7 28. 8 27.0
13 28. 8 27.1 28.5 26. 8 29. 0 27. 2
14 28.9 27.4 28. 6 27.1 29. 1 27. 4
15 29. 3 27.7 28.9 27.3 29. 4 27.6
16 29. 4 27. 8 29. 1 27.5 29. 6 27.8
17 29.5 27.9 29. 3 27.6 29. 8 28.0
18 29. 7 28. 2 29.5 27. 8 30.0 28. 2
19 29. 8 28. 2 29.5 27.8 30. 1 28. 3
20 29.9 28.3 29.7 28. 0 30. 2 28.5
21 30. 1 28.5 29. 8 28. 2 30. 4 28. 6
22 30.2 28. 8 30.0 28. 4 30.5 28.8

T Khm ORI XA IR N A 28T TR £ 71T RE 2R T2 F D 9 B RUVME D DERTH 5,
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8. HitEHRat

&4T AANIZH =R BB IEH2

RS R

(AT 1) Sk 224
X sy | % 1A | 2A | 3H | 4B | 5H | 6H | TH | 8H | 9H | 10A | 11H [ 12H
% #(2,351| 189| 204| 248| 217| 185 195 197 182 196 178 176 184
H x| 288] 26| 17| 32 27 31| 25| 31 191 221 24 14 20
H x| 228 15| 20 211 20 19| 20| 21 14 20 16| 22 20
i x| 249] 32 15| 251 16| 22| 14| 19| 20| 24| 23 16| 23
[t} x| 3e61] 271 39 38 37 18] 40| 201 26| 30 30 33 23
2 e m x| 508|421 431 65| 43| 36| 37| 39 39 33 37| 43 51
2 e db x| o s02| 24| 31| 32 31| 22| 17| 271 28] 30[ 23 18 19
72 e x| 134 6| 13| 14| 15 9| 17| 14| 11 8| 12 7 8
= 1A x| 281 17 26 21 28 28 25 26 25 29 13 23 20
=48 FELFEAIIZ A 1= 7 B HA R Bl B & 4 2

(AT - 1) SRk 224

[F) J ST ] P B Eilea HH) TR Fifi e

# # 2, 351 2,049 268 1 16 17 -
6 » H K i 72 65 6 — 1 — —
64 H ~ TAEAT 84 72 10 — 1 1 —
4E ~ 28R 163 148 13 — 1 1 —
25 ~ ARG 163 139 24 — — —
I~ AR 138 121 16 — — 1 —
45~ BEERYH 161 145 12 — 1 3 —
B ~ 104E A 492 427 57 — 4 4 —
104~ 1 5HE AT 318 269 43 1 3 2 —
154~ 204E AT 278 237 40 — 1 — —
20 £ Lk 327 285 37 — 2 3 —
N 2 155 141 10 — 2 2 —
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